402 — = 388
1 mark
+5=172
1 mark
157 — =139

1 mark




Write the missing digits to make this addition correct.

6 + 3 =200
1 mark
Write the missing digits to make this addition correct.
2 4 + 1 =653
1 mark
Write the missing digits to make this subtraction correct.
6 9 — 1 =347
1 mark

Georgie going to read a book with 482 pages.
On Saturday she reads 75 pages.
In Sunday she reads another 78 pages.

How many more pages does Georgie have to read to finish the book?

Show
Your
method

2 marks




n At the start of August Mr Sterling had £1,367 in his bank account.
During August,
* £1,652 was paid into the bank account

* £1,973 was paid out of the bank account

How much money was in Mr Sterling’s account at the end of August?

Show
Your
method

£
2 marks
n This table shows the area of three national parks.
National Park Area (square
kilometres)
Cairngorms 4,528
Dartmoor 953
Snowdonia 2,176

How much bigger is the area of Cairngorms than the combined area of
the other two parks?

Show
Your
method

km

2 marks



m James is going to buy an apple for 42p, a banana for 36p and an orange
for 51p.

James will pay with a £2 coin.

How much change will James get?

Show
Your
method

2 marks

n Teddy is selling tickets for an event. He has sold 5,376 tickets.
He then sells another 854 tickets.

There are a total of 8,000 tickets available.

How many more tickets can Teddy sell?

Show
Your
method

2 marks
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